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Uni—edit ¥& El: S A} Consists of / comprises / composed of / constitutes / make up
/ includes

UoIE: =3

Contain, consist, compose, constitute, comprise... 0| SAIS2 2E&2 "&H SC"et=
ol0l2 BN 2 "com-"'S E&old UCts ZALLICH 0O SAMES 82 &M £=
HA 2 B2 ZHE HSHESLICH 0 SAIES A2 B2 ME HES BT UKXEH A2
HIRO MB o Tl BLRE USLICH SSEQ =SEE SA0Z 28 tf9 AI2Ys

AR EASLICH

HHEIE SF0|gt I T 2EQ|3 1J1?

0| SAIE HIZH A5, 2= 21S Lol 22 2 s ZEolkle E=
SE29| XI0|E Oldlot= 2101 HE =L &HLICH.

DE NS Lol S E-2E 5= 20

DE S LEoHKE Y= 22 -2UEE= BO5IX0 BE g2 E6t=E e otd

2E S ZLEstE 22: " My siblings consist of three brothers (LIS EJ|= 3 HO| XAt
SHZ OIR0A ULCH." 0| BRE= =SJ| &0 XN0H= gitts = LI

DE AE ZESHX= L= =2=: " My siblings include three brothers (LIS SJl= 3 HO| XAl
HHE E&siH." 0] H22= XO0JF EHE & ¥ U= S LI

ZHIE SAI &Ei5}D]

HEH SAI=2 2E 212 Z&8dle S=0 Uoll AIEHD HH SAIE2 2 242
ISotAeE 2= SS0| ol AFZ2ELICH A0 et SHE SAIE d=6l0F &L

QE g 5= 2= SAk include / contain

0l & SAIS S£2 He 5Lt

M= B82S ZEsHH (include); 222 &AM Z& S0 (included).

M= B82S ZEsHH (contain); 222 AMU ZEECH (contained).

£2 0ll: Asia includes the countries of China, Japan, and Korea. (OlA|Ot= &2, &2, s=2s
IEEHCE) (OFAIOHOI= CHE 2J1E% QULH.)
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2= 0l: North America includes the countries of the USA, Canada, and Mexico. (£0/= 0|=,
INLICIRE A2 E HEESHCE) (5010 CHE Ligts gith)

I SSICH (contain)

HAe 225 Z&olD (contain), 22 AN Z&ELICH (contained).

£2 0ll: The report contains statistics about the labor market from 2008-2014. (20 A=

2008 @-2014 ENHXIS == AIZ0 St EHE EESU). (Z2AWE OFE EHE S0/
QICH)
DE 218 I 85l= S Ak consist of / compose / comprise / constitute / make up

2 ECH (consist of)

'RHECH (consist of) & AIE2E [ie, 25 dME 460 ELICH Miles 2222
AT USLICH (consist of).

£2 0f: North America consists of three countries: the USA, Canada, and Mexico. (S£0/= 3
N =IHEZ PEEAHUCH OI=, HLICH HAID.)

&2RE 0l: Asia consists of China, Japan, and Korea. (OtAIOt= &=, &,
AUCH (OtAIOHM= O 3 J =Dt 20 TtEg ==& RULL)

C2 FHE

a

12 "is consisted of'= 2= AHESLICI.

2 A&35ICH (Compose)

'RHBICH (compose) E AIE2E =, 22 HAE &4dofor ELICH dds
AL USLICH (composed of).

alll
Rl
|0
]

£2 0ll: The nicotinic acetylcholine receptor is composed of five subunits: the muscle-type
one is composed of two alphal, one betal, one delta, and one eta subunits. (LI2El
OtME =2 =M= UsSl 22 5i2 otRH?Z2 2N UL 28 f& 12 2 42
2O, 102 BIIEFT, 1 JHQl ZE 1 0HS OlE SHRIERIZ 24 D0 ULH)

N2, ‘compose’E 0|81 QDIZ2 AIE2E e sSHIZ2= & MX &2=d, 1O 0lf= OI0tx
‘compose'Jl SSEIZ M0|H "tz HES) E&olU's S22 AIEED |
0ll: Mozart composed his first symphony a e E
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2 C (comprise)

'PAEECH (comprise)'& AME2E [ils, 228 MME 2 Aol0F & LI

O=H0l 292 “the whole comprises the parts (Hile 2222 2AEO UCH”LICH.
REE " the whole is comprised of the parts"0letd &d| LICH. D S0 EJIEH9
HRAXE S0l= 0lZAH MH E2 A0(etD M2Ust=s AT 2| 20 Z&atH0F & LIC

"consist of'& B3RO0 MEH OFMEHL|C.

)
ro

Oil: A simple circuit comprises a source of voltage (e.g. a battery), a conductive path (e.g.
a wire), and a resistor (e.g. a lightbulb). (Et= 32= && (0: Bige2l), &= (0: &IIA),
ME(o: @)= 2EE UACH.

22 WA ol: Asimple circuit is-comprised-of consists of a source of voltage (e.g. a battery),
a conductive path (e.g. a wire), and a resistor (e.g. a lightbulb).

2

—

... 2) 2HECH (Make up)

'FHEET (make up)'E AMEE =, 25 dME ZHoH0F SLICH

PASLICH (make up); &ile B2o2 AN ASLICH (is made up of).

SHe =St 25 S0l AlEELICH

£2 0ll: Seeds and fern spores make up the finch’s diet. (M2 DA2I Z X0 S AHF 2
S 0|0|Ct.)
22 0: The finch’s diet is made up of seeds and fern spores.

2 A5lCH (Constitute)

-

‘P HSICH (constitute) & AI2E =, S8 MME 2460 &LIC

HHE PHELICE (constitute); EHlE 222 AN USLICH (is constituted
b =SEIE0 A= AFEELITH

=2 0l: Automobile exhaust constitutes a large proportion of total greenhouse gas emissions.
(KINEX HIDI1DtAE & 24 JIA His™ & 2 HlES XHAEHH)
=
=

S

S
d: 0l OlolA 2EECZ '8M's 'E& 24 JtA BIEE'0[ Otdl, 'S 24 JtA ol

HI='&LICT

)]

Copyright Uni-edit 30f6 Not for distribution



Uni-edit English Writing Tip: Verbs: Consists of / comprises / composed of /
constitutes / make up / includes

Difficulty: Medium

Contain, consist, compose, constitute, comprise...what these verbs have in common is the Latin root
“com-“, which means “to put together”. They describe the relationship of parts to the whole, or whole
to parts. They can be used interchangeably in some cases, but cannot in others. Let’s look at the
usages of each word, with attention to active and passive voice.

What’s an Exhaustive List? What’s a Non-Exhaustive List?
The idea of an exhaustive vs. non-exhaustive list is crucial to using the verbs correctly.

Exhaustive list - report all the items
Non-exhaustive list - report some but not all of the items

Exhaustive list: My siblings consist of three brothers.
This means | have no sisters.

Non-exhaustive list: My siblings include three brothers.
This means | have one or more sisters.

Choose the right verb
Some verbs are used for exhaustive lists. Some verbs are used for non-exhaustive lists. You must
choose the right verb for the situation.

Non-exhaustive verbs: include / contain

Include

The meanings are essentially equivalent.

The whole includes the parts; the parts are included in the whole.
The whole contains the parts; the parts are contained in the whole.

Correct: Asia includes the countries of China, Japan, and Korea.
(It also includes other countries.)

Incorrect: North America includes the countries of the USA, Canada, and Mexico.
(It does not include other countries.)

Contain
The whole contains the parts; the parts are contained in the whole.
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Correct: The report contains statistics about the labor market from 2008-2014.
(It also includes other statistics.)

Exhaustive verbs: consist of / compose / comprise / constitute / make up
Consist of
When you write 'consist of', you must write the entire list. The whole consists of the parts.

Correct: North America consists of three countries: the USA, Canada, and Mexico.
Incorrect: Asia consists of China, Japan, and Korea.
(There are more than these three countries in Asia.)

By the way, “is consisted of” is incorrect English.

Compose
When you write 'compose’, you must write the entire list. The whole is composed of the parts.

Correct: The nicotinic acetylcholine receptor is composed of five subunits: the muscle-type one is
composed of two alphal, one betal, one delta, and one epsilon subunits.

By the way, when using 'compose' with this meaning, the active voice is less common, perhaps
because active-voice “compose” has another meaning, which is “to write (an artistic work)”: e.g.,
Mozart composed his first symphony at the age of eight.

Comprise
When you write 'comprises', you must write the entire list.

Standard usage is “the whole comprises the parts”. In modern times, the usage “the whole is
comprised of the parts” is common. However, since some English style authorities think the latter
usage is mistaken, use it at your own risk. An alternative like “consists of” is uncontroversial.

Correct: A simple circuit comprises a source of voltage (e.g. a battery), a conductive path (e.g. a
wire), and a resistor (e.g. a lightbulb).

Alternative correct: A simple circuit is-comprised-of consists of a source of voltage (e.g. a battery), a
conductive path (e.g. a wire), and a resistor (e.g. a lightbulb).

Make up
When you write 'make up' or ‘made up of’, you must write the entire list.

The parts make up the whole; the whole is made up of the parts. Active voice and passive voice are
equally common.
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Correct: Seeds and fern spores make up the finch’s diet.
Correct: The finch’s diet is made up of seeds and fern spores.

Constitute

When you write 'constitute’, you must write the entire list.

The parts constitute the whole; the whole is constituted of the parts. The active voice is more
common than the passive voice.

Correct: Automobile exhaust constitutes a large proportion of total greenhouse gas emissions.
Explanation: Here, in grammatical terms, the 'whole' is the 'large proportion of total greenhouse gas

emissions', not ‘total greenhouse gas emissions’.

END OF TIP
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